TEMA REBSRRAERR (TEB)

SF546H1H~6A30H
B u Gy/h= u Sv/h (1905 L4 /B = w1900 —~" Wb/ BERE)

o
MEA B | s ;;?;%z_ exmate | Temws | 08| THER | "e% | Aase | nesme ZE%:; b i
T SERET T SERET T 4BRET T SERET T 4ERET s IEn) HERHE HRHE FSEm FSEET
BEFE—REILD [ri2] [1i?] [1i?] [1i?] [1i?] Lisfeafic] [1i?] [1i?] Lisfeafic] ic]eafic]
F A R U B #3108km #3103km #9103km #9101km #3100km #9151km #9139km #9151km #9135km #9141km
Gal)E' 158 0.03 0.03 0.04 e 0.04 0.05 0.05 0.04 0.05 0.05
Gﬁé)a 158 0.04 0.04 0.04 0.04 0.05 0.06 0.06 0.05 0.06 0.06
GJ(E' i3)E' 158 0.03 0.03 0.04 0.04 0.04 0.05 0.05 0.04 0.05 0.05
GJ(E'S)E' 158 0.03 0.03 0.04 0.04 0.04 0.05 0.05 0.04 0.05 0.05
GJ(E';)E' 158 0.03 0.03 0.04 0.04 0.04 0.05 0.05 0.05 0.05 0.05
Gﬁﬁ)a 158 0.03 0.03 0.04 0.04 0.04 0.05 0.05 0.05 0.06 0.05
GEJZ)E' 158 0.03 0.03 0.04 0.04 0.04 0.05 0.05 0.04 0.06 0.05
Gag)E' 158 0.03 0.03 0.04 0.03 0.04 0.05 0.05 0.05 0.06 0.05
Gﬁé)a 158 0.02 0.03 0.04 0.04 0.04 0.06 0.05 0.04 0.05 0.05
GJE('j‘:‘)) Bl qspg 0.02 0.03 0.04 0.03 0.04 0.06 0.05 0.04 0.06 0.05
Gﬁ(lé‘) Bl qspg 0.03 0.03 0.04 0.04 0.05 0.06 0.06 0.05 0.05 0.05
GJE(')‘EIZ)E’ 158 0.02 0.03 0.04 0.04 0.04 0.06 0.05 0.05 0.06 0.05
GJE(] B Bl qspg 0.02 0.03 0.04 0.03 0.04 0.05 0.05 0.05 0.05 0.05
6%}3 Bl qspg 0.03 0.03 0.04 0.03 0.04 0.06 0.06 0.05 0.06 0.05
6’?7}(5) Bl qspg 0.04 0.04 0.05 0.04 0.04 0.07 0.05 0.04 0.07 0.08
Gﬁ(lés) Bl qspg 0.03 0.03 0.04 0.03 0.04 0.06 0.05 0.04 0.05 0.05




TEMA REBSRRAERR (TEB)

SF546H1H~6A30H
B u Gy/h= u Sv/h (1905 L4 /B = w1900 —~" Wb/ BERE)

o
T BB ET T SERET T BB ET T SERET T SERET R AT RRH REH [GES=L: i)

BEE-—REENMO [ii] [i] [i] [i] [i] FEEIE [i] [i] FEEIE I

7710 B U B #9108km #9103km #9103km #9101km #9100km #9151km #9139km #9151km #9135km #9141km
GJE(]:‘t7) Bl 1ses 0.03 0.03 0.04 b 0.04 0.06 0.05 0.04 0.05 0.05
Gﬁ(lés) Bl 1ses 0.03 0.03 0.04 b 0.04 0.06 0.05 0.04 0.05 0.05
GJE('J‘EIQ)E’ 1584 0.03 0.03 0.04 b 0.04 0.06 0.05 0.04 0.06 0.05
SRR0B | 1sm 003 003 004 004 004 0.06 005 004 006 005
oA SN IR 003 003 004 003 004 005 005 0.04 005 0.05
GJE('% Bl 15w 0.04 0.04 004 004 005 0.06 005 0.04 0.06 0.05
Gﬁ(lga 1585 0.04 003 004 003 004 007 005 005 0.06 0.10
oA 25 rems 0.04 003 004 003 005 0.06 005 0.04 005 0.05
Gﬁ(léf) Bl 15w 0.04 003 004 003 004 0.06 005 0.04 005 0.05
GJE(IEG)E’ 1585 0.04 003 004 004 004 0.06 005 005 005 0.05
oA T | 15m 0.04 003 004 003 005 0.06 005 005 005 0.05
oA 2SR rsms 005 0.04 0.06 004 005 0.06 005 0.04 0.06 0.05
6’?;(9) Bl 15w 003 003 004 004 004 005 005 0.04 005 0.05
GJE('%‘))E’ 1585 003 003 004 003 004 005 0.06 005 005 0.05




SR REMSTRERERR (BEE) . . . PHsE6A1E~6A30R
BiI: 1 Gy/h= 1 Sv/h (IR LA/ BRI = 94 90—~ ILh/ B )

N SR N A wil 1 s = SEMTEES N

BMEAR B | BEXF | XEEVEI—| sn=E L& WEXRT B8 AEx—i5 R EBERE

ST ST FSEET ST ST FESERT SRR FSERT [EE3=3)
?E%%fﬁ?b‘%o) [rif] Fic)eagii] Fic)eagii] Fic)eagii] Fic)eagii] [rii] ik ik [ric]

FR U ERR #133km | #9138km | #9120km | #5120km #1138km #125km |  #9144km #131km #9114km
6@1)5 158 0.06 0.04 0.05 HEweh 0.07 0.04 0.06 0.04 0.06
6’(}2)5 158 0.06 0.05 0.05 HEweh 0.07 0.04 0.07 0.04 0.06
6’(51 jf)E' 158 0.06 0.04 0.04 HEweh 0.07 0.04 0.06 0.04 0.06
Gﬁz‘l‘ )E' 158 0.06 0.04 0.04 AEweh 0.07 0.04 0.06 0.04 0.06
6’35]5)5 158 0.06 0.04 0.05 AEweh 0.06 0.04 0.07 0.04 0.06
66&5 158 0.06 0.04 0.05 AEweh 0.07 0.04 0.07 0.04 0.06
6’3}2)‘3 158 0.06 0.04 0.05 e 0.07 0.04 0.07 0.04 0.07
6?72)5 158 0.06 0.04 0.05 e 0.07 0.04 0.07 0.04 0.06
6’2)5 158 0.06 0.04 0.05 AEweh 0.07 0.04 0.07 0.04 0.06
6’5(':}:0) Bl qses 0.06 e 0.04 AEweh 0.07 0.04 0.07 0.04 0.07
6AIR | ops 0.06 FHEge 0.05 sEch m%h 0.04 0.06 0.04 0.06

( E ) s, . A TE . A TE B TE . . . .

6’5(' ;]2) Bl qses 0.06 0.04 0.05 EEeass et 0.04 0.07 0.04 0.06
6’5(' 13) Bl qses 0.06 0.04 0.05 HEweh 0.07 0.04 0.07 0.04 0.06
6’5(' 7}3 Bl qses 0.06 0.04 0.05 AEweh 0.07 0.04 0.07 0.04 0.06
6’5('71'(5) Bl qses 0.06 e 0.08 HEweh 0.08 0.05 0.09 0.07 0.09
6’5(' éﬁ) Bl qses 0.06 0.04 0.05 A 0.07 0.04 0.06 0.04 0.06




SR REMSTRERERR (BEE) . . . PHsE6A1E~6A30R
BiI: 1 Gy/h= 1 Sv/h (IR LA/ BRI = 94 90—~ ILh/ B )

AN AN ==
md | poeEr | PELY | woR |mamms| wy—to | s (PZRIEE| gphont

BMEAR B | BEXF | XEEVEI—| sn=E L& WaxXm a8 AEx—i5 B — EBERE

ST ST FSEET ST ST FESERT SRR FSERT [EE3=3)
?E%%fﬁ?b‘%o) [rif] Fic)eagii] Fic)eagii] Fic)eagii] Fic)eagii] [rii] ik ik [ric]

FR U ERR #133km | #9138km | #9120km | #5120km #1138km #125km | #9144km | #5131km #9114km
6’5(':}:7) Bl qses 0.06 0.04 0.05 HEweh 0.07 0.04 0.07 0.04 0.05
Gﬁ(lég) Bl qses 0.06 0.04 0.05 HEweh 0.07 0.04 0.07 0.04 0.07
6’5(' ;B Bl qses 0.06 0.04 0.05 HEweh 0.07 0.04 0.06 0.04 0.06
6’5(' JZLO) Bl qses 0.06 0.04 0.05 AEweh 0.07 0.04 0.07 0.04 0.07
6’5('7?) Bl qses 0.06 0.04 0.04 AEweh 0.07 0.04 0.07 0.04 0.06
6’5('% Bl qses 0.06 e 0.05 AEweh 0.07 0.04 0.07 0.05 0.06
6’5(' g) Bl qses 0.06 sEch 0.06 s 0.08 0.05 0.11 0.06 0.06
6’5(' j:“) Bl qses 0.06 0.04 0.05 e 0.07 0.04 0.06 0.04 0.06
Gﬁ(lé“s) Bl qses 0.06 0.04 0.05 AEweh 0.07 0.04 0.07 0.04 0.06
6’5(' éﬁ) Bl qses 0.06 0.04 0.05 AEweh 0.07 0.04 0.07 0.04 0.06
6’5(' f) Bl qses 0.06 sEch 0.05 AEweh 0.07 0.04 0.07 0.04 0.06
6’5('7% Bl qses 0.06 0.05 0.05 EEeass 0.07 0.05 0.07 0.05 0.09
6’5('% Bl qses 0.06 0.04 0.04 HEweh 0.07 0.04 0.06 0.04 0.05
6’5(' %0) Bl qses 0.06 sEch 0.05 AEweh 0.07 0.04 0.07 0.04 0.06




